



Harper Sloane Productions

09/25/2024 09:00 AM | Install Day 1 09/26/2024 09:00 AM | Install Day 2 09/27/2024 05:00 PM | Event 09/28/2024 09:00 AM | STRIKE PO: Shipping Address: Private Residence, 1740 Green Acres Dr. Beverly Hills, CA 90210 Invoice Date:

Due Date: Upon Receipt

Salesperson: Romina Manolio

| Description | | Qtty | Price | | Total |
|-------------|---|------|-------------|---|------------|
| Walls | | | | | |
| | Valance In Stock Burgundy Dupioni 250' | 1 | \$1,152.00 | Т | \$1,152.0 |
| | Valance In Stock Burgundy Velvet swags 120' | 1 | \$720.00 | Т | \$720.0 |
| | Oversize Props - Gold Deco Fans Stage Backdrop 39'6"W x 2'7"D x 8'4"H | 1 | \$1,800.00 | Т | \$1,800.0 |
| | Austrian Drape in Cranberry to Create an Entrance 30'x 12'H To Cover Kitchen | 1 | \$1,200.00 | Т | \$1,200.00 |
| | Fabric Treatment in Cranberry Back Stage Wall 100' x 12'H With Double Pullbacks Fo Entrance on Right of stage and small Returned 75' x 12'H - Fabric to cover Legs with Smaller Pullbacks Double Sided (5' Wide Pullbacks) | 1 | \$4,320.00 | Т | \$4,320.00 |
| | Fabric Treatment in Burgundy To Create Alcoves To Cover the Back os tennis court creating smaller Alcoves for Food and bars -100 ' x 10'H Run 1-60'x 10'H run | 1 | \$4,080.00 | Т | \$4,080.0 |
| | | | Total Walls | | \$13,272.0 |
| Lounge 1 | | | | | |
| | Coffee Tables - Lisbon - Rose Gold Round Loop Frame 47.5"Diam X 18"H | 6 | \$300.00 | Т | \$1,800.00 |
| | Accent Table - Lisbon - Rose Gold Round Loop Frame 23.5"Diam X 22.5"H | 4 | \$108.00 | T | \$432.00 |
| | Sofas - Buenos Aires - 4pc Sectional Grey All In burgundy, Covers 10' 2" X 9' 6" | 6 | \$780.00 | T | \$4,680.00 |

| Description | | Qtty | Price | | Total |
|-----------------|---|------|----------------|------|-------------|
| | Club & Lounge Chairs - Boston - Club Chair W/ Nailhead Trim 28"W x 28"L x 28"H | 18 | \$180.00 | Т | \$3,240.00 |
| | 28 W X 28 L X 28 H | | | | |
| | Club & Lounge Chairs - Budapest - Vanity Chair Burgundy Velvet & Fringe | 6 | \$216.00 | Т | \$1,296.00 |
| | 26"W x 25"L x 28"H | | | | |
| | Ottomans - Standard Pod | 18 | \$36.00 | Т | \$648.00 |
| | in Blushes with Fringe Bottom and cheetah Print 18"RND x 17"H - Cover Color Upon Request | | | | |
| | Stock Pillows | 43 | \$24.00 | Т | \$1,032.00 |
| | Accent Table - Boston - Granite Round | 6 | \$96.00 | Т | \$576.00 |
| | 14"Diam x 22"H | | | | |
| | Accent Tables - Acacia Wood & Metal W/ White Marble Top | 6 | \$144.00 | Т | \$864.00 |
| | 9"1/2 Diam x 22"H | | | | |
| | | | Total Loung | je 1 | \$14,568.00 |
| Lounge 2 | | | | | |
| | Dining Chairs - Nice - Gold Frame | 48 | \$30.00 | Т | \$1,440.00 |
| | Burgundy Cover 18"W x 24"L x 37"H - Back & Seat Cushion Cover Color Upon Request | | | | |
| | Banquettes - Nice - Mauve Pink Velvet & Wood Legs - 8' | 8 | \$600.00 | Т | \$4,800.00 |
| | 0 W X 33 L X 40 H | | | | |
| | | | Total Loung | je 2 | \$6,240.00 |
| Lounge 3 | | | | | |
| | Dining Chairs - Nice - Gold Frame | 80 | \$30.00 | Т | \$2,400.00 |
| | Burgundy Cover 18"W x 24"L x 37"H - Back & Seat Cushion Cover Color Upon Request | | | | |
| 1 | | | Total Loung | je 3 | \$2,400.00 |
| Lounge 4 | | | | | |
| | Booths - Round Channeled Champagne Velvet 2pc Set | 7 | \$720.00 | Т | \$5,040.00 |
| | 6⤠¤ 10"₩3⤠¤ 2½3⤠¤ 3"H | | | | |
| | Dining Chairs - Nice - Gold Frame | 35 | \$30.00 | Т | \$1,050.00 |
| | Burgundy Cover 18"W x 24"L x 37"H - Back & Seat Cushion Cover Color Upon Request | | | | |
| - | | | Total Lounge 4 | | \$6,090.00 |
| Bars & Barbacks | | | | | |

| Description | | Qtty | Price | | Total |
|-------------|---|------|------------------|-----|--------------|
| | Bars - New York - Folding 8' Bar - New York - Folding 8' - Tufted Burgundy Velvet 8'W x 30"L x 42"H - Color Change Upon Request | 2 | \$1,080.00 | T | \$2,160.00 |
| | Barback - Moscow - Gold W/ Glass Shelves & Base 43"W x 18"L x 95"H - Custom Base Color Upon Request | 4 | \$222.00 | Т | \$888.00 |
| | | To | tal Bars & Barba | cks | \$3,048.00 |
| Ceiling | | | | | |
| 16 | Chandeliers - Vienna - Amber 44" 44"W x 47"H - 95lb - 750 Watts | 4 | \$960.00 | Т | \$3,840.00 |
| | Partial Ceiling Treatment. in Cranberry | 1 | \$7,800.00 | Т | \$7,800.00 |
| | | | Total Ceil | ing | \$11,640.00 |
| Exttras | | | | | |
| | Other Prop Sub Rentals TBD till final | 1 | \$4,800.00 | Т | \$4,800.00 |
| | Sofas - Berlin - Serpentine (3 Piece Set) Sofas - Berlin - Serpentine - Leopard Print Full Set 3pcs Left - 44"W X 60âM M âM X 33âM M âM MRight - 44âM M âM MX 160âM M âM M L X 33âM M âM MCenter - 62âM M âM M 160âM M âM X 33âM M âM M H | 1 | \$660.00 | T | \$660.00 |
| | Accent Table - Kids - Stack Book | 1 | \$36.00 | T | \$36.00 |
| | 20âÑ Ñ ₩ 14âÑ Ñ ± 22âÑ Ñ H | | | | |
| Ī | Table Lamps - Black Some to have Cheetah 6" 1/4W x 16"H - Dimmable & Cordless | 38 | \$36.00 | Т | \$1,368.00 |
| | Table lamps - Black | 1 | \$36.00 | Т | \$36.00 |
| | Mix and match pillows For Booth and Banqueets | 52 | \$0.00 | Т | \$0.00 |
| | Ostrich Feather Floor Lamps | 6 | \$360.00 | Т | \$2,160.00 |
| | Table Lamps - Budapest - Mauve Velvet Fringe Shade Size - 17"W x 12"H | 4 | \$36.00 | Т | \$144.00 |
| | | | Total Exttras | | \$9,204.00 |
| Services | | | | | |
| | Discount | 1 | \$-12,000.00 | | \$-12,000.00 |

| Description | Qtty | Price | Total |
|---|----------------------------|----------------------------------|--------------|
| Labor For Installation day 1 Wednesday | 10 | \$600.00 | \$6,000.00 |
| Labor Day 2 | 6 | \$550.00 | \$3,300.00 |
| Labor For Day of Event Touch up crew only | 4 | \$350.00 | \$1,400.00 |
| Labor for strike | 10 | \$600.00 | \$6,000.00 |
| Transportation | 4 | \$450.00 T | \$1,800.00 |
| Flame Proofing and Fire Permit | 1 | \$600.00 | \$600.00 |
| Manager on site for 2 days, Site Inspection - Representations & Diagrams | 1 | \$2,500.00 | \$2,500.00 |
| Please make checks payable to Revelry, Inc. | | Total Products: | \$66,462.00 |
| Note: Prior to deliveries and pick-ups all invoices must be pay in full | Total Labor/Services/Misc: | | \$9,600.00 |
| Please ready the contract and sign it | W | \$1,140.87 \$570.44 \$0.00 | |
| • | | | |
| Notes | Т | | |
| | | Discounts: | (\$9,418.50) |
| | | Total: | \$68,354.81 |
| | | Payments: | (\$0.00) |
| | | Balance: | \$68,354.81 |